

OFFICE OF THE PANCHAYAT SAMITI: RAIGHAR

(O.L.M. SECTION)

No. 1736 /2020

Date: - 16 /09/2020

QUOTATION CALL NOTICE

Sealed quotations are invited from interested registered suppliers/Tenderers for supply of seeds for 03 Seasons i.e. Kharif, Rabi and Summer for development of green fencing of Mo Upakari Bagicha (Nutri Garden) of 2203 eligible beneficiaries in all 26 nos. of Gram Panchayat under Panchayat Samiti, Raighar. The requirement of category of seeds for development of Mo Upakari Bagicha of above seasons are given in the enclosed Schedule – Λ . The eligible suppliers are requested to send their quotations (as per the format given in schedule-B) in sealed covers through registered Post only on or before 23.09.2020 up to 5.30 P.M. to the undersigned. Sealed quotations received after the due date is liable to be rejected. The undersigned will not be held responsible for the postal delay if any for the delivery sealed quotation documents or non-receipt of the same in time.

Quotation of documents consisting of Scheduled of requirement quantities of seeds for three seasons and terms and conditions and other necessary documents can be downloaded from official district website (www.nabarangpur.nic.in) for the period from 17.09.2020 to 23.09.2020.

01. Date of quotation paper available:

02. Last date of receipt of sealed quotation papers.

03. Date of opening of sealed quotation papers.

17.09.2020 to 23.09.2020

24.09.2020 up to 03.30 P.M.

24.09.2020 at 05.00 P.M

a/20 **Block Devel** Raighar.

SCHEDULED - "A"

Total requirement of seeds (In gram)	Target for	BAGICHA. Quantity of seeds for Kharif Season required per beneficiary		Name of seed	l.No. Name	
2643.	2203 beneficiaries	In gram	No. of seeds			
1586.1	2203	1.2	12	Pumpkin	1	
7049.	2203	0.72	22	Cucumber	2	
4758.4	2203	3.2	16	Bottle ground(lau)	3	
991.3	2203	2.16	18	Ridge ground(Jhni)	4	
	2203	0.45	18	Basella (Poi)	5	
6168.	2203	2.8	14	Bitler	6	
220	2203	1.00	4	ground(Kalara) Snake	7	
660.	2203	0.3		ground(Chachindra)		
	2203	0.3	60	Brinjal	8	
1145.5	2203	0.52	0	Tomato	9	
7710.	2203	3.5	86	Chilli	10	
2203	2203	10.00	70	Ladies finger/Okra	11	
	2203	0	0	Amaranth(Saga)	12	
	2203	0	0	Spinach(Palanga)	13	
9164.4	2203	4.16	0	Coriander(Dhania)	14	
	2203	0	104	Ipomoea(Kalama)	15	
	2203	0	0	Bean	16	
29960.	2203		0	Cluster Bean(Guanra)	17	
29960.		13.6	136	Cow Pea(Jhudangaa)	18	

REQUIREMENT OF KHARIF SEASONSEEDS FOR GREEN FENCING OF MO UPAKARI

REQUIREMENT OF RABI SEASON SEEDS FOR GREEN FENCING OF MO UPAKARI

KE	QUIREMENT OF ICT		BAGICHA.		Total requirement
Sl.No.	Name of seed	Quantity of seeds for Rabi Season required per		Target for	of seeds. (In gram)
		No. of	eficiary In gram	2203 beneficiaries	
		seeds	1.6	2203	3524.8
1	Pumpkin	16	1.12	2203	2467.36
2	Cucumber	34	2.4	2203	5287.2
3	Bottle ground(lau)	12	2.16	2203	4758.4
4	Ridge ground(Jhni)	18	0.45	2203	991.3
5	Basella (Poi)	18	2.8	2203	6168.4
6	Bitler ground(Kalara) Snake	0	0	2203	0100.
7	ground(Chachindra)	38	0.19	2203	418.5
8	Brinjal	38	0.15	2203	330.4
9	Tomato		0.40	2203	881.
10	Chilli Ladies finger/Okra	66	0.40	2203	

12	Amaranth(Saga)	0	10.00	2203	22030
13	Spinach(Palanga)	0	20.00	2203	44060
14	Coriander(Dhania)	0	20.00	2203	44060
15	lpomoca(Kalama)	12	0.48	2203	1057.44
16	Bean	84	5.00	2203	11015
17	Cluster Bean(Guanra)	0	0	2203	0
18	Cow Pea(Jhudangaa)	84	8.4	2203	18505.2

REQUIREMENT OF SUMMER SEASON SEEDS FOR GREEN FENCING OF MO UPAKARI

Sl.No.	Name of seed	Quantity	of seeds for		Total requirement
		Summer So	eason required neficiary.	Target for	of seeds. (In gram)
		No. of	In gram	2203	
		seeds		beneficiaries	
1	Pumpkin	12	1.2	2203	2643.6
2	Cucumber	11	0.36	2203	793.08
3	Bottle ground(lau)	8	1.6	2203	3524.8
4	Ridge ground(Jhni)	18	2.16	2203	4758.48
5	Basella (Poi)	26	0.65	2203	1431.95
6	Bitler	18	3.6	2203	7930.8
	ground(Kalara)				
7	Snake	0	0	2203	0
	ground(Chachindra)				
8	Brinjal	30	0.15	2203	330.45
9	Tomato	0	0	2203	0
10	Chilli	66	0.40	2203	881.2
11	Ladies finger/Okra	54	2.7	2203	5948.1
12	Amaranth(Saga)	0	10.00	2203	22030
13	Spinach(Palanga)	0	0	2203	0
14	Coriander(Dhania)	0	0	2203	0
15	Ipomoea(Kalama)	104	4.16	2203	9164.48
16	Bean	0	0	2203	0
17	Cluster	66	2.00	2203	4406
	Bean(Guanra)				
18	Cow	110	11.00	2203	24233
	Pea(Jhudangaa)				

Schedule: B:- Format of Quotations.

(For use of the bidder. See note below)

Quotation be filled up in separate sheet each for Kharif Season/Rabi Season & Summer Season

Sl.No.	Description of Seeds	In total quantity of for Kharif/Rabi/St			ted inclusive of all taxes.
		No of Seeds.	In gram	In figures	In words.
Gross	Total Cost :Rs.				

l /we agree to supply the above seeds in accordance with description in good (amount in figures) condition for a total price(including all taxes) ofRs._____ _only) (amountin words) within (Rupees

the period specified in the Invitation for quotations.

Signature of the Suppliers.

TERMS AND CONDITIONS:

- 01. The quotations should be addressed to "The Block Development Officer, Raighar so as to reach the same on or before 11.09.2020 up to 3.30 P.M.
- 02. The Quotations will be opened on 11.09.2020 at 05.00 A.M at Block Office, Raighar in the presence of the purchase Committee as well as supplier or authorised person of the suppliers.
- 03. The rate quoted should be including all taxes.
- 04. The payment will be made to the successful supplier after the receipt of the items in good condition.
- 05. If the successful supplier, after accepting the purchase order, fails to deliver any or all of the items within the scheduled period specified in the order, the purchase order will be cancelled.
- 06. The Supplier should have valid GST certificate.
- 07. The authority is right to cancel quotation if in any unavoidable circumstances.

The sender should give the following declaration while submitting the quotation.

ACCEPTANCE:

I/We accept the above terms and conditions and shall comply with them strictly.

Name of the Suppliers. Address:

Signature and seal.

Memo No. 1737./2020

Date :. J.G../09/2020

Copy submitted to Collector, Nabarangpur for favour of kind information.

Copy submitted to Sub-Collector, Nabarangpur for favour of kind information and necessary action.

Copy submitted to PD, DRDA, Nabarangpur for favour of kind information and necessary action.

Block Devel

Memo No. 17-38 /2020

Copy submitted to CDPO, Raighar for favour of kind information. She is requested to display in her Office Notice Board.

Copy submitted to Tehasildar, Raighar for favour of kind information. He is requested to display in his Office Notice Board.

Copy submitted to Chief District Agriculture Officer, Nabarangpur for favour of kind information and necessary action.

Copy submitted to Deputy Director of Horticulture, Nabarangpur for favour of kind information. He is requested to display in his Office Notice Board.

Copy submitted to D.I.O., NIC, Nabarangpur for favour of kind information and necessary action. He is requested to upload the Quotation Call Notice in District Website NIC, Nabarangpur for the period from 17.09.2020 to 24.09.2020.

Block D Raighar. Date : 1.6. /09/2020 Block Dev

../2020

Copy to Office Notice Board.